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Directions for Questions 1 & 2 ¢

Read the following passage and 20SWer the questions that follow
the Passage. Your answer should be based on the passage only.
It has always been clear that a properly designed media programme Uses
press, posters, printed leaflets, and so on in proportions suitable to the nature
of the product itself. In such a programme, television occupies i relatively
important place if the product is sold in small quantitiessIt is regarded as
a quick-acting medium, peculiarly suited to propobisg impulse purchases’.
Larger items, such as cars and refrigerators qia@be more profitably advertised
in the press as they are examined insgredter detail and more leisure than
television. Nevertheless, in most nfds& advertising campaigns, the media are
used in combination with eaeliother. It is significant, in this connection, that
the poster medium, and\outdoor advertising generally are now staging

something of a petovery, after sustaining what at first looked like a severe

blow at the time of introduction of commercial television.
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i, A properly designed medj;, programme uses :
A A media which dEPEHds on the imPUISE

(B) Television if the Commogdity is produced on a large scale

(C) Different sources of megd;d decording to the type of the product

(D) Money to achieveithe target
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The Producers advertise larger items -

(A) To earn substantial profits
; s leisurely
(B) In the press so that the customer may see details

(C) On television commercials to appeal to the people

(D) To make profit through university graduates
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Directions for Questions 3 to 5!

Read the following passage{and answer the questions that follow

the passage. Your answer- should be based on the passage only.

Studies serve for delight, for ornament, and for ability. Their chief use for
delight, is in privatcness and retiring; for ornament, is in discourse; and for
ability, is inhe(judgement, and disposition of business. For expert men can
execute, and perhaps judge of particulars, one by one; but the general counsels,
and the plots and marshalling of affairs, come best from those that are learned.
To spend too much time in studies is sloth; to use them too much for ornament,
is affectation; to make judgement wholly by their rules, is the bmmoar ok
scholar. Crafty men condemn studies, simple men admire them, and wise men
use them; for they teach not their own use; but that is a wisdom without

them, and above them, won by observation.
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o According to the author, why should one study ?
(A) To gather information about the world
(B) To pass time in'a creative manner
(C) For pleasure, and enhanced capability
(D) For worldly wisdom
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(A) g & anr § wrEd @ w0 F fag
(B) A Wi @ W @ e
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o According to the author, why should one study ?
(A) To gather information*about the world
(B) To pass time in'a creative manner
(C) For pleasure, and enhanced capability
(D) For worldly wisdom
TEE @ AR, TR & SEE TR A ?
(A) g & anr § wrEd @ w0 F fag
(B) A Wi @ W @ e
(C) @iz i g 9fE F 1
D) @ wm & fau
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Why does the author not recommend too much of studi

'A) Because it reflects idleness

(B)  Because it's a costly affair

(€} Because its detrimental to health and hygiene
(D)

Because it promotes contradiction

(A) =% 98 e =i o &
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GR Which kind of human beings denounce studies ?

(A) Wise (B). Stupid

(C) Innocent (D) Cunning
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Directions for‘Questions 6 to 15 : Choose the correct option out

of given four.
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6. In communication connotative words are :

(A) Simple (B) Abstract

(C) Cultural (D) Explicit
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Communication becg

(A) The feedback is ahS{!nt

(B) The decoder becop,, an encoder

(€) The channel is cjpe,

(D) The source is creqyy,
HER THE WS ¥
(A) Wigdh gufiem 3

(B) fePlst TR & v 3
(C) = TSR

(D) W favawig

The mode of communication that,involves a single source transmitting

information to a large numhér of receivers simultaneously is called :
(A) Mass communication

(B) Interpersonal communication

(C) Intrapersonal communication -

(D) Strategic communication
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>tMantic barrier of communication is implied when the

(A) Receiver is fully attentive

(B)  Signal is loud and clear

(C) Receiver fails to understand the meaning
(D)

Message is flawlessly implied
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In communication the word ‘Haptics’ sighifies :

(A) Staggered communication (B) Spatial communication
(C) Temporal communication

(D) Tactile communication
HER & enE ‘fesm wea wd § o

(A) ®fed FER (B) T Hem

(C) eifws wHan (D) FRFAM H9w

The technique by which a leader helps to encourage younger colleagues is
called as :

(A) Dictation (B) Mentoring

(C) Networking (D) Evaluation

(A) fewwm (B) ieft
(C) FHesre (D) TEAHA
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Creative thinking gpq Probjem solVing are two significant forms of :

(A) Realistic thinking (B) Knave thinking

(C) Autistic thinkjng (D) Mirage

TS WA SR W= oy 3 meET w9 §

(A) FMIaTEt Fe (B) g= o=

(C) &fiefew dm (D) TIge

Effective Time management can contribute to-teamwork by :

—

(A)  Creating needless stress and preséute’on team members

(B) Allowing team members to Work individually according to their ability

(C) Ensuring tasks and deadlines are met efficiently

(D) Sharing secret|information to others
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: semiotics
14. Which of the following statements best defines the scope of

i ; s only
(A) Semiotics is a study of non-human sign systems onl)

(B) Semiotics is a study of sound systems of a language

(C) Semiotics is a study of consonants and vowels

(D) Semiotics is a study of sign systems

Frefafen 4 4 simm w9 giefml 3 o 7 gaaeT @ @ g
T ?

(A) TiEfaE) F9e W-uma gaa yoneE fasree &

(D) HEfaR Ham wonfaan e spp &

15. A major barrier/in ‘the transmission of cognitive dat

a during the process of
communication’is due to an individual's -

(A) Coding ability (B) Resolution

(C) Anticipation (D) Societal statug
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Directions for QueStinn o 20 :
S

Read the following Passage and answer the questions that follow

the passage. Your angye, should be based on the passage only.

The literary distaste fo, politics, however seems to be focused not so much
on the largely murky Practice of politics in itself as a subject of literary
representation but rathe, more on how it is often depicted in literature i.e.

on the very politics of such representation. A political drama often turns out

to be not merely to show readers how things are but, has fairly definite ideas
about how things ought to be, and precisely, what’one should think and do
in order to make things move in that desired direction. In short, it seeks to
convert and enlist the reader to a particular cause or ideology; it often is
not literature but propagandas Another reason why politics does not seem
amenable to the highest kind of literéry representation seems to arise from
the fact that polities'by its very nature is constituted of ideas and ideologies.

Literature, it\is argued, is about human experiences rather than about

intellectual abstractions; it deals in what is called the ‘felt reality’ of human

flesh and blood, and in 52P and savour rather than in arid and lifeless ideas.

In an extensive discussion of the matter in her book Ideas and the Novel,

the American novelist Mary McCarthy observed that ideas are still today felt

to be unsightly in the novel though that was not so in the 18th and 19th

centuries.

TBC : ECP/25/B/MII—A 11 P P.T.O.
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i t to be
According to the passage, the politlca[ drama often turns ou

According to the passage, a political drama reveals :

(A)
(B)
(C)

(D)

Drama with its own politics
Portrayal of gloomy politics
Literary distaste for politics

Literary misrepresentation of politics

Writer’s perception
Tensions of the world

Realistic perception of the reader

The theme of theatre

Politics by its nature is -

(A)
(B)
(C)

(D)

Existing political “séenario
Political propaganda
Evaluation” of human nature

Ideas and principles

Literature deals with -

(A)
(B)
(C)

(D)

Individual experiences and intellectual abstractions

Intellectual abstractions
Human experiences in politjcs

Felt reality of human life

12
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20. The observatio : .
D of Mary Machirthy discloses :
(A) Unseen felt ide; of today in noOVel
(B) Unseen felt ideqg -
ral

(C) Endless ideas ip Nove]
(D)  Compatibility betweey, ,ovel and drama

Directions (Q. Nos 21 ¢, 30) : Fill in the blanks with the correct
option.

21.  The correct antonym of the word phlegmatic is ....
(A) Energetic (B)> Apathetic
(C) Indifferent (D) Stoical
22.  The correct synonym of the:word ostentatious is ................. ;
X
(A) Extravagant (B) Modest
(C) Reticent( (D) Taciturn
23. One who traces the histu_;rry of the descent of families is called ..........
(A) Graphologist (B) Genealogist
(C) Limerick (D) Histologist
24. He and his -four brothers [OVE: sonsassivisinianninss very much.
(A) Each other (B) Some other
(C) One another (D) All another
TBC : ECP/25/B/II—A 18
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26.

27.

28.

29.

30.

TBC : ECP/25/B/II—A 14

That evening the storm rolled 17 and there was plenty of thunder

(A) Lightning (B) Lightening

(C) Roaring (D) Thundering

| - scarcely see in this IigPt-

(A) Only (B) Can

(C) Could not (D) Can’t

Noehma 16 s cleverer than Savita.

(A) More (B)~ Very

(C) Positively ' (D) Much

It is better to keep one’s head in the face of danger than ................... one’s
courage and .................... pafileKy.

(A) Lose, get (B) Losing, getting

(C) Quell, bemoan (D) Look out for, dispel being

Science relating to the formation and development of words is
CAIBAL . osisnssomnisismmnnss 5

(A) Tautology (B) Lithology
(C) Etymology (D) Phonology

One who keeps thinking of one particular thing only is ...............

(A) Pyromaniac (B) Psychomaniac

(C) Egomaniac (D) Monomaniac
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The distance betwegy

the Himachal Pradesh is 300 km.
cars A and B start gjpy, 1“' Citjes 1 Two

these stations and move toward 1

aﬂeu =t . from ards each

other. The s;;eed of g Ne o thlfﬂ" is 7 7 km/h more than that of the other. If

the distance between ther, + wo hours of their start is 34 km, then the
speed of car A and car p pater
are .

(A) 68 km/h and 7q k]-'ﬂfh

(B) 63 km/h and 71 kmyp, mspectively
(€) 63 km/h and 70 kayp  ectively
(D) 60 km/h and 75 km/h _respectivcly

Wﬁﬂﬁam%ﬁamqﬁsooﬁﬁ. T8 FX AT B TH WY
W R A IE WY SR o @ AR TR §) gD T H M GER A
gﬂﬂlﬂ?ﬁmmeﬁw@qﬁmgﬁ?ﬁﬁﬂﬁaﬂﬁiﬁmﬁ.%ﬁh
FX A A9 R B F M w7 ¥ 2

(A) 68 fawel./H. aa@r 70 fadh./s.
(B) 63 freft./o. @ 71 fe/.
(C) 63 fFdL/=. T 70 ﬁq‘tm.
(D) 60 feHL./. a=1 75 m'na.

The missing termi\in the following sequence

0 X, 1, — 3_; 5: 8, - 21: 34; 99, -, 144
are
(A) 2, 13, 89 (B) 2, 11, 76
©) 1,8 ,55 | D) 3,8, 55

5, 8, -, 21, 34, 55, —, 144
(B) 2, 11, 76
(D) 3, 8,:65

15 P.T.O.




n twice of Shalini's age. After 8 years,

33.  Shalinj’s mother is 12 years more tha
she will be 20 years less than three times of Shalini’s age. Then the age of
Shalini’s mother 1S :
(A) 44 years (B) 46 years
(C) 48 years | (D) 50 years
et =1 w5 = g wfert it amg @ S ¥ 12 @d sifusw ¥ 8 g4 9%, 98
TEET W A R A T @ 00 ad @ dnh @ wher A A OHl g ¥
(A) 44 =d (B) 46 ¥d
(C) 48 =d (D) 50 =

34. A milkman buys 70 litre of milk‘for Rs. 1500 and add 5 litre of water. If
he sells it at Rs. 24 per litrej-then the profit percentage is -
(A) 15% (B) 20%
(C) 25% ' (D) 30%
TF gHaTl 1500 F. § 7oaﬁaq\u@fm%3ﬂ13ﬁﬁ5ﬁﬁawﬁﬁﬁam%| Ifg
a3 24 T 9 Wi A W A Amm % @ A whwm
(A) 15% (B) 20%
(C) 25% (D) 30%

TBC : ECP/25/B/II—A 16 4
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35.

36.

37.

Mohan Lal purchased gy, gs. 35,000. He allows a discount of 12%

- Gr
of its marked price &nda:.me iins 10%. Then the marked price of the
article is : il g
(A) Rs. 42,750 (B) Rs. 43,550
(C) Rs. 43,750 (D) Rs. 43,000

died @ A TH T 35,000 % ag Ik 3ifFa g [
y ‘ﬁ@‘aﬂl Iﬁmlz% {g
& ofR T 10% Y Fam 3| _ g &1 3G e R

(A) 42,750 . (B) 43,550 %.
(C) 43,750 % D) 43,000 T.

The compound interest op Rs. 75,000 for three years/ at successive interest
rates of 4%, 6% and 9% for ‘each year respectively.is :

(A) Rs. 15,121.20 (B) .Rs.~16,121.20
(C) Rs. 17,121.20 @)\ Rs. 19,121.20

75,000 T W W 6] B oy Twafe @, FE: TO0E T4 4%, 6% R 9% F
A R Y, T oo |

(A) 15,121.20 % R\ (B) 16,121.20 ¥.

(C) 17,121.20 & (D) 19,121.20 %.

A machine costs Rs. 70,000. It depreciates at the rate of 5% in the first year
and 10% in the second year. Its depreciated value after 2 years is :

(A) Rs. 59,750 (B) Rs. 59,850
(©) Rs. 59,950 | (D) Rs. 59,805

T WA w8 S 70,00bf-’5' TR qd # TR e 5% ad g w6 H 10%
ﬁﬁ?ﬁmmﬂaﬂfﬁﬁm“ﬁ@‘-“%:

(A) 59,750 %. (B) 59,850 %.

(C) 59,950 =. (D) 59,805 .

TBC : ECP/25/B/MI—A A i Ee0-



‘ ' : it can finish it
38.  Praveen can complete a piece of work 10 30 days, while Mohi | o
. eaves. How

In 25 days. They work together for 10 days, after which Praveen

ek wvork ?
many more days will Mohit take t0 C°mplete the remaining ¥
(A) 1673 days (B) 20/3 days
(C) 14s3 days (D) 22/3 days

mwmaﬁanﬁﬁ@mm%mﬁ%ﬁﬁ%fﬁﬁwm
%lémﬁﬁiwqamqmaﬂﬁ%m%aﬁﬁ?wmém%'wm
a‘rwmﬁ%ﬁﬁmﬁﬁﬂaﬁ ?

(A) 16/3 fz (B) 20/3.f&7

(C) 14/3 fex D) J22/3 fa7

39.  Two inlet taps can fill an empty tank in 10 hours and 15 hours respectively,
while an outlet tap can empty the full tank in 8 hours. If all three taps are

opened simultaneously, the tank will be completely filled in ;
(A) 20 hours (B) 23 hours

(C) 24 hours)"“ (D) 25 hours

mﬁwhwmﬁmﬁmﬁﬁwm?
(A) 20 Tv2 | (B) 23 ®w
(C) 24 ¥w D) 25 w2

TBC : ECP/25/B/MI—A 18



40.

41.

Two trains, m . :
€asuring 150 g et and 120 meters in length, are moving in
e

T
opposite directionsg g, Parg : trsfksﬂne at a speed of 72 km/h and the other

t 36 km/h. : : ;
= They will Tosg each other In :
e

b
(A) 5 seconds (B) 7 seconds

(C) 9 seconds (D) 11 seconds

15DMWI2D%WQWWWWWWSﬁﬁW

W §1 TF F i 72m.m¢w€maﬁnﬁrssm.m%|%iamﬁm
A TH-gEd F W e

(A) 5 93 (B) 7 ¥=s

(C) 9 H%Fe D) 11 ==
Which one of the following statements is not true ?
(A) Number of diagonals in a Polygon'of 12 sides = 54

(B) The measure of each exterior angle of regular polygon of 13 sides
= 27.69°

(C) The sum of all interior angles of a polygon with the 9 sides = 1260°
(D) Each extefior angle of a regular octagon = 60°

fer & 4 S e 9 T E 2

(A) 1zgmﬁaﬁa§gaﬁfﬁ“ﬁm“rﬁm=54

B 13 st a Wﬁ%ﬁf&?ﬁmaﬁwﬁmzm.ﬁa“
!ﬁﬁﬂ‘ﬁﬂfﬂﬁ?ﬁaﬁvﬁﬂﬁﬁm=lﬂﬁﬂ°

(C) 9 wumsft I
D) TF frafg sre®™

19 | e P.T-O-
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?
is not true !
42. Which one of the following statements about the rhombus 1

(A) Diagonals bisect inferior angles
(B) All angles are not right angle
(C) Adjacent sides are equal
(D) Diagonals are equal
1 8 ¥ S wo wregs & fa o @ Y 2
(A) fowol siafes =i w5 Tufgasid A €
(B) @t =i wwew 7 W £
(C) o= ol s At §
(D) fo&vl swex d) €
43.  Which statement is not true for a kite ?
(A) The diagonals are‘pérpendicular
(B) One pair of*opposite angles is congruent
(C) One pair of opposite sides is parallel
(D) Two pairs of consecutive sides are congruent
= 7 | s w97 991§ e gy 9 ¥ 0
(A) fo=l wrEa §
(B) fouim =i =t St watmm
(©) fawia ysnsii &1 g wrmR 3
(D) wHE Yonsli @ et ety #

TBC : ECP/25/B/1I—A 920
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45.

1RO ECP/25/B/II—A

A hexagonal pyramiqg ha
3

R), 7 VRTHEEs, 1 st anq 6 faces
d

(B) 7 vertices, 12
®dges ang 7 faces
(C) 17T vertices, 10 edges B o fues

@) 6 vertices; 12 edpay and 7 faces

T wehia it 4

(A) 7 @, 111%“,—.“1.3?“%%%
(B) 7 M, 12 TR 3k 7 9 2n 3
(©) 7 @M, 10 R 3k 7 v 2w ¥
D) 6 FM, 12 fFR iR 7 7o G

The area of a trapezium is 884-sq. cm. Its parallel sides are in the ratio
3 : 5, and the perpendicdlardistance between them is 12 cm. Then the lengths

of the parallel sides-(bases) of the trapezium are :
(A) 24 cm<and 40 cm (B) 12 em and 18 cm

(C) 14 cm and 20 cm (D) 15 cm and 20 cm

ﬁmagﬁame}afﬁaaﬁaﬁﬂﬁ%lmﬁmgaﬁamﬁm
ﬁ%amgﬁa}awgﬁmﬁ?ﬁ[ﬂmﬁﬂﬁﬁﬁmﬁﬁlﬁ (3TYR)

®1 TRl €
(A) 24 Tt 3irw 40 @t (B) 12 ¥# iR 18 ¥t
(C) 14@#«20% (D) 15 TW 3R 20 |

21 P.T.0.



6. A well with an inner diameter of 14 Meters ig dug to a depth of 15 meters.

The excavated earth is spread evenly around the well to a width of 7 meters,

forming an embankment. The height of the embankment is :

(A) 4 meter (B) 5 meter

(C) 6 meter (D) 7 meter

14 HIR & Nafted = aen uE gl 15 WX )\ 9% 9| S 81 @k

T el A w1 B =/ iR 7 e B AR g%ouE v Q o W § e
TEY I ¥ qeEY H oSAE § e

(A) 4 Hiex (B) 5 ®Hi=X
(C) 6 He (D) 7 ®HX
o | 1 i
47, If x +— =14, then the value of x—= ig :

x X
@A 2 (B) 3
) J5 o 7
1 1
?ﬁ‘a x4+~—4-=14,?’|3[ xXx—= T?FTHF‘I%:
:.: x
A J2 B) 3
€} 46 D) 7

TBC : ECP/25/B/II—A 29




48.

49.

50.

—— R

1/3
, then the value of x3 4 3py — 24 is :

oo T i)
(A) a? (B) a2 + b3
€ 0 D) 1

1/3
A& 2= (a+a?+57) +(qﬁm]”3, .

x° + 8bx — 2¢ N HA T :

2
(A) a B) a? + b3

(O D) 1

The area of region bounded by the straight flines Jo] +:.]p] =118
{A) 1

(B) \Z
(C) 3 (D) 4
TR @ x| + |y| = 1Brgw a5 &9 &1 So9%a & :
(A) 1 (B) 2
(C) 3 (D) 4

If one internal ‘angle of a regular polygon is 135°, then the number of diagonals
in the polygon is :

(&) 15 - B 20
©) 25 ) 48

ot frht frafiys agye @1 T SRS $I9 135° 7, T agys # fawoll %t W
T

(A) 15 (B) 20

(C) 25 - (D) 18

TBC : ECP/25/B/TI—A 23 P.T.0.



51.

52.

Which one of the following is not tr4¢ ?
(A) Two congruent triangles have equal area,

(B) 1If area of two triangles are equal, then it is not necessary that they

are congruent.
(C) Two congruent triangles are always similar and converse is also true.

(D) If base of two triangles is equal then draw perpendicular to the base

so that length of two perpendiculars is equal.

= 4 s w9 99 R/ ® 7

(A) & gatmem faysl &1 §F%a SR B9 &)

(B) ﬂ&aﬁﬁsﬁmaﬂmw%ﬁ%wqﬁ%ﬁémﬁh
(C) ﬁﬁmﬁw@mwﬁﬁ%aﬁhmﬁqﬁﬂaﬁw%

(D) afg & BIe 1 MU ETR & @ MR W o Wi aifeh af @al Bl aEs

EnErdal

If AABC is an, isosceles triangles such that AB = BC = 8 ecm and
ZABC = 90°, then the length of the altitude drawn from B to AC is :

~(A) 3 cm (B) 22 cm

(C) 32 cm (D) 4.2 cm

afg AABC U& ®Wigag 149 & 9o AB = BC = 8 &t T8 ZABC = 90° £, @&
B ¥ AC 7% ©iEt T 918 &I @a% § :

(4) 3 & (B) g2 @
©) 3y2 ¥ D) 442 &t

TBC : ECP/25/BI—A 94



53.

54.

55.

TBC : ECP/25/B/1I—A

side BC of the AABC such that BP = PQ

st d centrojq op AABC, then the ratio of areas of APGR and
AABC is :

@A) 1:2
C) 1:4

If three points P, Q R I
' e on he

B) 1:3
D 1:6

i< AABC ®1 Y91 BC w w4 fag P, Q, R 50 UsR feuw 1 & fF

BP =PQ = QR = RCI 3§ g, yapc 51 $5F ¥ @ APGR 7#ll AABC & 8yl
H AAE T

(&) 1:2
Cy 1:d

@)l :3
D) 1:6

The area of the largest triangle that can be inscribed in a semicircle of radius
x (in square units) is :

|
(A) §x2 (B) x2
(C) 2x? , (D) 4«2 .
x B o erdgw @ g R gC B @ deea (TR A) ®©
@ 3 ®
(C) 2x2 D) 4x

If in the two circles, arc of same length subtend angle 60° and 75° at the
centre, then the ratio of their radii is :

@ 4:5 ' ® 2:3
C) 7:8 D) 5:4

qﬁaqﬁﬁwwﬁa}ﬁﬂﬁﬂmﬁwaiﬁ?ﬁ“mﬁﬂﬁ%ﬁim
foromsti 1 U@ ®

(A) 4:5 B) 2:3

) T7:8 (D) 5:4

25 . PT.0.



56. The Earth completes one full rotatiol on its axis in 24 hours. How many

degrees does it rotate in 4 hours and 12 minutes ?

(A) 60° (B) 63°

(C) 64° (D) 65°

gt 24 w2 A AT A W uF T TER A ¥ 4 w2 12 fre A 9% fe
3 gt 2

(A) 60° (B) 63°

(C) 64° (D) 65°

57. o Sin17°=-g-, then the value of seel7° - sin73° is :

ﬂ'rz b2
(A) —F7——— —
b\l'ba—ag (B) a bZ —(12

© —T—= b
bVa® - b% D) z_p2

5 o O :
R sinl? =5 T secl?° -sin73° H UM ¥ :

t12 62
(R) = e O
b bz —(12 (B) a 62 s ﬂ2

c) —F— b
(C) b {a'z_bz (D) g "____a2~52

TBC : ECP/25/B/II—A 26"



56. The Earth completes one full rotatiol on its axis in 24 hours. How many

degrees does it rotate in 4 hours and 12 minutes ?

(A) 60° (B) 63°

(C) 64° (D) 65°

gt 24 w2 A AT A W uF T TER A ¥ 4 w2 12 fre A 9% fe
3 gt 2

(A) 60° (B) 63°

(C) 64° (D) 65°

57. o Sin17°=-g-, then the value of seel7° -sin73° is :

ﬂ'rz b2
(A) —F7——— —
b\l'ba—ag (B) a bZ —(12

© —T—= b
bVa® - b% D) z_p2

5 o O :
R sinl? =5 T secl?° -sin73° H UM ¥ :

t12 62
(R) = e O
b bz —(12 (B) a 62 s ﬂ2

c) —F— b
(C) b {a'z_bz (D) g "____a2~52

TBC : ECP/25/B/II—A 26"



58.

59.

When the Sun’s altitude jg 3%,y gpadow™ of a tower is 15 meters long. What
will be the length of the shadgy, when the Sun’s altitude is 60° ?

(A) 4 meter (B) S meter

(C) 3 meter D) 6 meter

S A FTRIGS 30° ¥ N 0 ey o ol 15 Wew wneht 1 51 g 1 WedigS
60° & T B F A e 3

C) 3 tﬂ?.'( (D) 6 Tﬂ?{

If the shadow of a tree is*16 meter when elevation of Sun is 60°, then the

height of the tree is .
(A) 8 meter (B) 16 meter

(C) 1643 meter (D) 16/+/3 meter

TS e 9 o, g W@ IEE 60° W W, 16 He &, 7@ Iz | S

%
(A) 8 T | (B) 16 T
(C) 1643 HRT (D) 16/+3 TR

TBC : ECP/25/B/II—A 27 : P.T.O.



60. If sinﬁ—cose=%, then the value of @ is :

(A) 45° S
©) 75 D) 90°
7fg sinE}—cos(J:J—EZ—_—l, @ 0 F AT

(A) 45° (B) 60°
(C) 175° (D) 90°

61. The set that is similar in pattern to the givén set (22, 8, 176) is :
(A) (19, 7, 133) (B) (26, 5, 131)
(C) (28, 7, 200) (D) (17, 8, 157)
T® W W A T T (228, 176) B YA W R, ¥ ¢
(A) (9, 7, 133) (B) (26, 5, 131)

(C) (28, 7, 200) (D) (17, 8, 157)

62.  The word/pair in which the relationship between the two words is similar

to that of ‘Golf : Course’ is :

(A) Cycling : Velodrone (B) Ring : Boxing

(C) Baseball : Rink (D) Judo : Arena
T Y= gH e @ vl % oA ow by e ;e
() wERERT : dAER (B) o : sifm

(C) awaE : fw

%W%:

D) IE : e

TBC : ECP/25/B/II—A 28



63.

64.

65.

9;
If XU289 is related to SP324 ang QN361 is related to LI400 following a certain
pattern, then using the Same pattern, JG441 is related to :

(A) EB484 (B) FB464

(C) FB648 (D) EB464

Bl XU289-,.SP3?4 q Haftg sy QN361 TF Fifv=a Yot &1 St wid g
LI400 ¥ Haftm E%ﬁmﬁamwm@, JG441 =1 | waftm @ ¢

(A) EB484 (B) FB464

(C) FB648 | (]j) EB464

If WAITER : 242923 :: JUMPER : x, then the value of x is :
(A) 252923 (B).*212623

(C) 302923 (D) 312923

Ik WAITER : 242923 : 4JUMPER : x, @9 x & A1 © :

(A) 252923 (B) 212623

(C) 302923 (D) 312923

Which one of the following pairs is the odd one out ?

(A) SJF-MPX (B) ZBN-EHU
(€) NRﬁ-Dcs _ (D) PSD-KYU
f=m 4 4 S s el ﬁﬂ'ﬂ € 7

(A) SJF-MPX (B) ZBN-EHU
(C) NRB-IXS (D) PSD-KYU

TBC : ECP/25/B/II—A = P.T.O.



63. If XU289 is relateq to Spg,,

65.

TBC : ECP/25/B/MI—A

4 anq QN361 is related to L1400 following a certain

pattern, then using tp, JG441 is related to :

EB4
. . B) FB464

FB
(C) FB648 I Enacs

LI400ﬁﬁéfm%,mmmmwmgq,mulﬁmﬁﬁﬁﬁm%:

(A) EB484 (B) FB464

(C) FB648 ©) EB464

If WAITER : 242923 .. JUMPER : x, then the value of x is :
(A) 252923 (B) 212623

(C) 302923 (D) (312923

I WAITER : 242923 :: JUMPER.: x, 7 x & UM ¥ :

(A) 252923 (B) 212623

(C) 302923 | (D) 312923

Which one of the following pairs is the odd one out ?

(A) SJF-MPX (B) ZBN-EHU
(C) NRB-IXS (D) PSDKYU
fre & 4w o g B

(A) SJF-MPX (B) ZBN-EHU
() NRB-IXS (D) PSD-KYU

29 P.T.0.



66.  Which one of the following is the 0dd one out ?

(A) = (B) f5
29
©) 3 D} =

= § @ o9t & den fauw 7

(A) = B) 2
© 3 o Z

67. In the word ‘CATER’, if the vowels are changed'to the previous letter and
the consonant are changed to the next'letter as per alphabetical series, then

the letter occur more than once in the newly formed word is :
(A) D (B) S
C) Z - D) U

WCATERﬁ,qﬁ{aﬁaﬁﬁaﬁ_amﬁaaaﬁmmafnaimaﬁaﬂhﬁn
9 % AR AT HER W 9ed fam WY, @ T Ay v 4 uw F ffus 9% oy

qel = T
(A) D ~B) S
(C) Z (D) U

TBC : ECP/25/B/II—A . 30



V If in a coding SYstem -

41 in the same coding
system, the Numbe, . 374 b el d 85 66148, then

(A) 2186211 LS goged 10 ¢

(B) 2816620
(C) 2186102

D) 2180619

A) 2186211
| (B) 2816620 : L‘

21861
M = (D) 2180619

9. If the mirror is relateq to Reflectjon. then in same way, water is related to :

(A) Conduction (B) Refraction
(C) Dispersion - (D) (Immersion
e <Y, ek ¥ Hafm %,a}mm‘wﬁ Fafed € :
(A) = ﬂ (B) e ¥
(C) e @ @) - foresta &

70. If Physiology . Human Body, then :

(A) Omithology : Insects (B) Petrology : Rocks

(C) Entomology : Birds (D) Anthropology : Dinosaurs
of Frforash ¢ AFE W, @
A) sifudest : FS

(C) Uit : 9af

(B) YIS : Wt
(D) WFEfEEE : SEAER

31 P.T.O
TBC . ECP/25/B/1I—A



,_,7'1./ Which one of the following i

72,

the most appropriate description about these
5 ] [

e a ?
three words Theta : Phi : 0% &

(A) These are latin alphabets
(B) These are signs of algebrd
(C) These are greek letters

(D) These are used in physical derivatives

Frer # @ S we T i v ST ¢ W ofvdm W wed SO AU
g ? .

(A) 3 Afeq quimen ©
(B) ¥ diemfvrg & Hehd
(C) I Wiw & ¥

(D) ¥ SwEM sifter ogeg # fRar ST &
Which one of the following words is\least like the other words ?

(A) Copper (B) Zinc
(C) Brass N\ (D) Aluminium
= 4 | sFm @ 9= 3 ey W@ T 2

@) ala, (B) &M
(C) et . (D) T
Which one of the following is odd pair of the words ?
(A) Jaundice : Liver (B) Rickets : Bones
(C) Tuberculosis : Lungs (D) Dengue : Fever
Fret & @ W g e ¥ 2 '
(A) diferr : aFa - (B) fbew : =il
(C) wH : Bwg (D)@"L:?j}ﬂﬂ'

TBC : ECP/25/B/II—A e



If, in a certgj
\ y/ aIn code langua ritten as ‘OCK’ and ‘“ZEN is written
! as ‘YCK’, then i, % PENGE

the ¢ 7TON’ is written as :

Amga la e
T Jangung!
(A) RNJ &
(B) RMK
(©)- SMK
(D) SNK

afe fost ;
iR RS B PEN’ 7 ‘OCK’ el GEN’ ~YCK' feren <t %,

GERCIR L i TON’ 5 S

(A) RNJ B) RMK

(C) SMK
(D) SNK

75.  If black means pink, pinp Means blue. blué means white, white means yellow,

———
—

yellow means red and red means Hrown, then the colour of sky is :

—

Pl
(A) Pink (B) Blue
(C) Brown (D) Red

afs FTe F1 e e, T &1 e A, Fren w1 ol ghe, gwe w1 Ad ww,
Yo &1 21 o ok @ w1 Ad qU ¥, 99 SHm H LT ¥ e

(A) TR (B) e

© @ (D) e
P.T.O.

TBC : ECP/25/B/II—A 33



. f
76. A is the son of B, whose muthef 18 C. D is the husband of E, who is the |

granddaughter of C. If F is A's wife, then how is F’s father-in-law related

to D’s daughter ? .
(A) Uncle (B) Grandfather

(C) Brother (D)  Sister

A B# 3 %, Fmat v 31 D, B oufq ¥ s ¢ w9 ¥ ARF, A
T &, A F P R DA 9N T A ¥ 2

(A) 3w (B) =mI

(C) wrg (D) =&

For questions 77-79, study the following numeric sequence :

43157831629712135268654321387
and answer the questions given below.
W 77-79%%,%31‘35'7%@%@%@
43157831639712135268654321387
AR fed wot, B\ 3w v

77. _ How many0dd numbers are there which are immediately preceded by a perfect -

/ square ?
(A 1 (B) 2
€ 3 (D) 6
T fead faum dend € fs 9% wee w ool et e € 2
(A) 1 (B) 2
€ 3 (D) 6

TBC : ECP/25/B/II—A 34



79.

80.

TBC : ECP/25/B/II—A

Which of the followin
from the left ?

A 1
(C) 6

S Numpg, 1 e seventh to the right of tenth number

B) 3
D) 5

frt A B e g
o3 aﬁ@mn@q‘l*mﬁmﬁm?

(C) 6

(B) 3
D) 5

How many odd numbe
rs “rl : 4 .(
followed by perfect Squar;l:h are 1mmedntely preceded by perfect cube and

(A) 4
€ 1

(B) 5

O 3
gﬂ'*ﬁﬁmq&r&“%mm@@@mﬁmﬁmﬁwaﬂ

A 4
() @) 5

< 1 D) 3

In the morning, Shivani walks towards the east and see her brother Sanjay
coming from a direction and observes that Sanjay’s shadow is towards his
right. Then from which direction Sanjay is coming ?

(A) North (B) South

(C) East (D) West

@éﬁ?ﬁ%ﬁ?ﬁmﬁwﬁmﬁaﬂl%lﬁwm&w@wm
€ ? |
(A) I
C) (D) uft=m

35 P.T.0.



81 Ram Kumar ranked 16th fro® the top and 21st from the bottom in his class |
i1 an examination. If only 21 8t20°ntS Passed the exam, how many students

failed ?
(A) 15 (B) 16
(C) 19 ) =21

Wﬂwqﬁwﬁmmﬂﬁmﬂlﬁﬁamzﬂﬁﬁmﬁwmm
S| afc @ 21 o They § 0 €L N Fey o o ET 2

(A) 15 (B) 16
(©) 19 (D) 21
82. A, B, C and D are playing cards on square shaped-table such that A and
C as well as B and D are partners. D is to theyfight of C. The face of C
is towards west. Then the direction that D is/facing, i
(A) West (B)), East
(C) South (D) North-West
A, B, C 9 D SR A@RFAN W @ W a9 ® § W TER F A T4
Cw B A D TR S0, C 3 T iR ¥1 ¢ w1 g@ WeeH B AW 7, T
D& 4@ ¥ :
(A) ufy=m (B) T4 H
(C) =farud (D) SW-ufy=H ¥
83. A clock shows 9:00 AM. Then the correct time in the water is :
(A) 9:30 AM (B) 9:00 AM
(C) 3 AM D) 3:30 AM
T UE gaw & 9:00 I f@wl §1 9 H THH e AE ¥
(A) 9:30 AM (B) 9:00 AM
(C) 3 AM (D) 3:30 AM

TBC : ECP/25/B/II—A 36



84.

TBC : ECP/25/B/II—A 37

If May 05, 1911 ;
is Fl‘lday’ thep he day on September 11, 1919 is :

(A) Monday
B) Wednesday

(C) Friday
() Thursday

afg 5 ¥, 191
1®W%ﬂauﬁqﬁﬂ(.lglgaﬁﬁq%i

(A) HHER
(B) dHaR
The value of x in the following figures is :
1
(A) 15 . (B) 16
(Cy Xi (D) ~18

ﬁﬂfﬂ‘z’iﬁxﬁﬂmﬂ%

(A) 15 (B) 16
C) 17 (D) 18
P.T.O.



86. - In the following figure, the nuﬂlbers represent Indians, Leaders and SIiDgers.

Singer

Which of the number represents & Person who is an Indian leader but not
a singer ?

(A) 2 (B) 4

(C) 5 (D) 7

St T 39 e 1 akiue s © St fR TE IR A § «fed e
T T ?

(;9 2 : (B) 4

(C) b D) 7

TBC : ECP/25/B/1I—A 38



Statements

37' : A].l bﬂttles are

1 glasses are jugs.
: lagges: Al
Conclusions . Blasse

II-All jugs are b(}ttles'

III-Some glasses are botte
s,

Which one of t ' ,
he fOllr glven chDiCGS is correct ?

(A) Only conclusiop | folloy
(B) Conclusion I apg T folge,
"

() Conclusion 1T anq 1y folloyy

(D) Conclusion I anq yyy follow

w:mﬂaﬁaﬁﬁm%lmﬁﬁmw%l
ferd -

I-oft Saet s ¥

184l & e ¥
%% from <ge 1

@ R T R e § 4 W T R 2
(A) waa frewd 1 STa w1 @

(B) frohd I danm II o1g&R® &% ©

(C) s II e I1 SE W

(D) fomd T @en II1 @ W @

TBC : ECP/25/B/II—A 39 PT.0.



88.

Read the given Assertion (A) and Reason (R) carefully and choose the option

that accurately describes the relation between them.

Assertion (A) : All prime numbers are odd numbers.

Reason (R) : All prime numbes €an only be divided py itself and 1.

(A) Both (A) and (R) are tru€ and (R) is the correct Explanﬂtiﬂﬂ of (A)

(B) (A) is false but (R) is trué
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true but (R) is not the gorrect explanation of (A)

ﬁﬁﬂﬁmfnaaaa{mamm{mﬁmqﬁmq@aﬁnwwwwaﬁm
N T d D GEy w1 gEd AU BRI

TR (A) : |t ey gEA faun ey ©

(A) (A) 3R (R) SF T &, @ (R), (A) 1 T& TEHT ©
(B) (A) 3TA € Afed (R) 99 ¥
(C) (A) = (R) SHi ¥8A €

(D) (A) ¥ (R) 3 ¥ & Tg (R), (A) F1 Wl TEHO & @

TBC : ECP/25/B/II—A 40



If all the Surfaces o ed with red
a

5 cm side are paint
of 1

. answer
cubes of 3 cm side, then

g9. How many smaller cubes aye there hadBiE only one surface painted with red
color ?
(A) 17 iy
(C) 36 D54
T TS A A Y iy g A den R ¥ 2
(A) 17 B 24
(C) 36 D) 54
90. How many smalle_r cubes can be obtained from the larger cube ?
(&) 25 B) 35
€) 75 D) 125
TS W § PR-D1 fpan o e 2
(A) 25 (B) 35
€ 75 (D) 125
T8C : ECP/25/BMI—A 41

P.T.!



i ith red
°l. H 11 bes aré there having two surfaces painted Wi
: ow many smaller cubes a

color ?

(B) 24
(A) 12
. (D) 48
2 v e 1 A gy R 90 €
(A) 12 (B) 24

: . inted with
92.  How many smaller cubes are there having only three surfaces B

red color ?
A) 8 | (B) 12
(C) 16 (D) 18

T g a1 gu o W & e et ¥ 2
(A) 8 | (B) 12
(C) 16 (D) 18

93. How many smallér eubes are there having 4 or more faces painted with red

color ?
(A) O 3B) 1
C) 2 : D) 3

4 TR Y R A W oge T 9w W e e ¥ 2
(A) 0 - (B) 1

(C) 2 D) 3

TBC : ECP/25/B/1I—A 42



94.

95.

TBC : ECP/25/B/II—A

How many smaller cubeg

color ? are the

A 9 | ® 18
ﬁmﬁam@ﬁ@mmwﬁﬁ@nﬁm@% ?
(A) 9 (B) 18

(C) 27 (D) 81

How many triangles are there in the given figure ?

e

A) 10 B) 12
(C) 18 (D) 28
fr erRfa | fryei &1 "En e 82

hﬂving no surfaces p;lintﬂd with red
re

o (B) 12
—_ (D) 28

43

PO



(< are BiTls and rest are boys. If 2/9 of the girls

96. In a class, 3/5 of the studen
tudents

and 1/4 of the boys are absest;teh What part of the total number of s

is present ?

23 i
(A) 30 (B) o5

17 18
@ = ® 5
@mmﬁwﬁaﬁﬁwaﬁ5#@mmﬁ%ﬁmmm%'qﬁﬂm
ﬁmmzfgm@aﬁﬁ_ﬁwmy4mmm%,ﬁ@ﬁﬁﬁ

F g w1 faaw 9 Suftem €7

23 7
(A) 30 (B) 30
17 . 18
(C) o8 (D) 19

97.  The total numbet, of digits used in numbering the pages of a book having

366 pages, is :

(A) 732 . (B) 1098

(C) 999 (D) 1805

366 I3 Al Th [ F T H HARA A WIR FH A G WA ¥
(A) 732 : (B) 1098

(C) 999 (D) 1805

TBC : ECP/25/B/II—A 44



A bus for Shiml |
a ; :
P ager thay the bys had-alfﬂad}? left ten minutes ago and

the next bus will
i s : (- Yeave atigg; am. At what time did the enquiry clerk give
this information to the pPasse .
nger ?

(A) 9:15 am
(C) 9:20 am

B) 9:05 am

forqen = faQ () 9:08 am

R I MED %wam_%ﬁwwfﬁ@ﬁﬁwﬁ%tﬁwm
WWWMW%ﬁ%ﬁﬂmw@géﬂmﬁﬁmﬁl

N GAlES TR W W T g & 2 :

(A) 9:15 am

(C) 9:20 am

(B 9:05 am
(D) 9:08 am
99. Arrange the following in logical order :

1-Family 2-Community 3-Member 4-Locality *5-Country.

A) 3,1,2, 4,5 B)N\W], 2, 5, 4

ey 814,62 MRY 3,1, 4,2, 5

frefafad F AT w9 R ST

1-_i1ﬁ_a'r{_ 2-FHE 3-FIH 4T, 539

AL 3.1, 2. 4,6 By, 3,1, 2: 5,4

C) 3,1,4,5,2 D) 3,1,4,2,5

100. One word out of'the given alternatives which can be formed from the letters

of the word @JQULTM TR

(A) CONSTANT (B) NATION

(C) SALUTE (D) STATION

firit T fagedi B W TH TR SN IS CONSULTATION & 3ierd & Sl ST ehe
%, W/ :

(A) CONSTANT (B) NATION

(C) SALUTE (D) STATION

TBC . ECP/25/B/1I—A 45 P.T.O.
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